2
V / cuEM (v) (2)
(b) Complete the following reactions with
2016 suitable mechanism : 2x2=4
Cl
Sth Semester . i
( ) (i) @/ + NaNH, _lia. NHs
CHEMISTRY H
. CHCl3/NaOH
FIFTH PAPER (CHEM-351) (i) —
( Organic Chemistry—II )
OR
Full Marks : 55
Time : 22 hours 2. (a) “o-nitrophenol has much lower boiling
point than its m- and p-isomers.”
( PART : B—DESCRIPTIVE ) Explain. 1
( Marks : 35) (b) Arrange the following in their increasing
) . . order of acidity. Explain. 2
The figures in the margin indicate full marks
for the questions phenol, p-chlorophenol, p-cresol
1. (@) What is Hiuickel rule? Which of the (c) Complete the following reactions with
following species satisfy Huckel rule? suitable mechanism : 2x2=4
Explain briefly. 1+2=3
o (i) Phenol + ¢COCI 5o Mk
CS,
0. C0. 0.0 f
.. FeCl
o) (i) + Cly L) ?
G7/136a ( Turn Over ) G7/136a ( Continued )

Www.gzrsc.edu.in



(3) (4)
3. (a) Give one chemical test to distinguish 5. (a) Explain Hofmann’s method for the
between aldehydes and ketones. 1 separation of a mixture of 1°, 2° and
3°-amines. 3
(b) Explain keto-enol tautomerism by using
suitable example. 2
b) A the following in their d i
(c) Write the product(s) of the following (b) Arrange the (OLOWINE 1 Thelr decteasing 3y
] . ) i order of basicity. Explain. 2%
reactions with suitable mechanism : 2x2=4
. CH;COONa NH3, (CH3),NH, CH3NH,, (CH3)3N
(i)  ¢CHO + (CH3CO),0 X >7?
A
% .
-H0 (c) What are active methylene compounds?
B L CH3CO3H Give an example. 1%
(@  o—C=CHs — s
OR
OR . .
6. (a) Complete the following reactions : 1x2=2
4. (@) How will you obtain CH3;COCH; from NaOH
CH;COCI? Give chemical equation. 2 () ¢—NH, +¢COCl —2280_ 2
(b) Arrange the following in their increasing (i) R—NH, + CHCl; +3KOH ——?
order of acidity. Explain. 2
p-NO,-benzoic acid, p-methylbenzoic acid,
o-hydroxy benzoic acid, benzoic acid (b) Carry out the following conversion :
2Y%x2=5
(c) CO‘T%Ifte th}e1 f(?llow?ng reactions “{l;;hxg—g () CH,COCH,COOC,Hs CH;COCH,CH,
suitable mechanism - 2nen (Ethylacetoacetate) (Butan-2-one)
) _ 1) O3 R 3
(i)  CHzCH=CH, 2) Zo/dil o’ (ii) ~ CHp(COOCoHs), —> CH3CH,COOH
(Diethylmalonate) (Propanoic acid)
(i) CH3COOH + C,H50H S : SN
G7/136a ( Turn Over ) G7/136a ( Continued )
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(S) (6)

7. (a) Complete the following reactions with O—CH,CH=CH,

suitable mechanism (any two) : 2%%x2=5
(ii) — A8 5
. 1) AlC1 °
(i) @ + cHycocr —JAC 200°C
2) H,0 o
0 |

NH,OH, HCl 1) PCls/Ether
NaOC2H5 5 9

i 72N e i TN (iii) >? 0
+ ! 2
(it) COOCoHs  ¢,H-OH

THF ? picture of pyrrole. 2

9. (a) Draw the resonance molecular orbital
(iii) PhyP + CHBr —Nal o, 0CHO @

() Explain the A,.2 mechanism for the (b) Complete the following reactions with
hydrolysis of an ester 2 suitable mechanism (any two) : 2Ye%x2=5
OR / \ SO3/Pyridine
. (i N 100 °C ’
8. (a) Which is the major product and why? 2 |
Ph H H H
] o |
Ph—Cll—C—H > Ph—(li—C“)—H DMF
HO b Ph O () @U ¥ CHgl ——>7
N
+ Ph—C—CH,—Ph |
[ H
(b) Complete the following reactions with H,S0,
suitable mechanism (any two) : 2V6%x2=5 (iit) @ioj + Br, A—>?
N 82504

o OR
i 1)OH
2) Hy0® ' 10. (@) How will you prepare quinoline by
e © s Skraup method? Give chemical equation. 3

G7/136a ( Turn Over ) G7/136a ( Continued )
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(7))

(b) Electrophilic substitution of indole takes
place primarily at C-3 rather than C-2.
Explain. 2

(c) Complete the following reaction

(mechanism not required) : 2
NHNH, + CH;COCOOH —> A L>B
¢ 2 3 ZnCl,
A, —COz cC A, ZnC12 s D
* ok ok
G7—300/136a V/CHEM (v)
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V / cHEM (v)

2016
( Sth Semester )

CHEMISTRY

FIFTH PAPER (Chem-351)

( Organic Chemistry—II )

( PART : A—OBJECTIVE )

( Marks : 20 )

The figures in the margin indicate full marks for the questions
SECTION—I

( Marks : 5)

Put a Tick (v) mark against the correct answer in the
brackets provided : 1x5=5

1. Side chain halogenation takes place by
(a) electrophilic substitution mechanism ( )
(b) nucleophilic substitution mechanism ( )
(c) free radical mechanism ( )

(d) electrophilic addition mechanism ( )

/136
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(2)

2. Relative reactivity order of the following carboxylic
acid derivatives is

(a) acid chloride > anhydride > ester
> amide ( )

(b) acid chloride > amide > ester
> anhydride ( )

(c) amide > ester > anhydride
> acid chloride ( )

(d) anhydride > ester > amide
> acid chloride ( )

3. Schiff’s bases are formed when aniline reacts with
(a) aromatic ketones ( )
(b) aromatic aldehydes ( )
(c) aryl halide ( )

(d) aryl alcohols ( )

4. The product obtained in Mannich reaction is
(a) o-hydroxy carbonyl compounds ( )
(b) P-amino carbonyl compounds ( )
(c) PB-hydroxy carbonyl compounds ( )
(d) 1°-amine ( )

V/CHEM (v)/136
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(3)

5. Electrophilic substitution of furan takes place
primarily at

(@) C-2 ()
(b) C-3 ()
(c) C-4 ()
(@) 0-1 ()

V/CHEM (v)/136
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(4)

SECTION—II
( Marks : 15)

Answer the following questions in not more than
6 sentences each : 3x5=15

1. Complete the reaction with suitable mechanism :

ONa 1) CO,, 125°C
@ 2) H® '

V/CHEM (v)/136
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(S)

2. “Aldehydes are more reactive than ketones towards
nucleophile.” Explain.

V/CHEM (v)/136
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(6)

3. What will happen when 1°, 2° and 3°-amines react
with nitrous acid? Write chemical equation.

V/CHEM (v)/136
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(7))

4. How will you obtain

COOH
C6H5/§/

from CgHsCHO? Give the mechanism.

V/CHEM (v)/136
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( 8)
5. Compare the basicity of—

(a) pyrrole and pyridine;
(b) pyridine and piperidine.

* kK
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